1+ 24+ A KEES
N FR
Tall— T = hNT—&
Btz (L= 1] [ ) ] a—24
NFIAF—H T2 =T a—R
T35 Wi E= [ ) ] A — i 800m
T 4=y iR 660m
i EER mE A& [ o ] TS 7= 140m
oy 640m
1 AKH 2K H
a—RAk y H— R B E a—At v H— Ei W5
IS - A - KvE % IS — A - PN
HiAEH - B - (A 5% HiAEH - B - A 4%
miAEH - C - AR Fak miEH - C - AR Fak
HiAEH - D - H o st HiAEH - D - H o st
TP % 21(21) A A — IR 10:10 BT % 23(22) A A — IR 12:55
KA Hi E-1 VAZEN KA <Hb E-1 VAZAN
A=K7 4=y aKik 0C/ 1C AB—F/T 4=y a KR 3°C / 4C
F=890
IR AF=] =p 1A 24KH & # L—X
No No K4 i B 4 R W Re R OFF R ALV b
1 1 HE EEE NFIY =T 4821 4921 1:37.42 0.00
2 3 HE B NFIY =T 49.91 51.07 1:40.98 32.52
3 2 H b = BLAYa=T 53.41 54.45 1:47.86  95.38
4 8 Hb BLAYa=T 58.30 55.96 1:54.26 153.85
5 5 HM O BFE BLAYa=T 58.30 56.30 1:54.60 156.95
6 9 IWHE RS NFY 2 =T 58.79 59.80 1:58.59 193.40
7 4 Pan [ NF a=T 58.03 1:01.49 1:59.52 201.90
8 10 M Rz NFIY =T 1:14.11 1:16.04 2:30.15 481.73
DID NOT START [1st RUN] 1
7 R OH%E NFY =T
DID NOT FINISH  [1st RUN] 0
DISQUALIFIED [1st RUN] 0
16-02-2014 / ~NFALA X —35 / FEHET G8/ 1

DATA PROCESSING by SE I KO

TIMING by SE 1 KO

52— E9



BIEEFRY 2 =7 RFEAS
F2/IBlEER A Z-ZT7EF =
1+ 2%kt
F=890
NERE Af=h =) EEEE 1AH 24KB & F L—x
No No K4 B 4 BF O R M OB ORI AL
DID NOT START  [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 1
6 NG VDR NFD a=T GATE No. 17
XAV [EES =Y ) [fe)d]
16-02-2014 / ~NFALA X —35 / FEHET G8/ 2

DATA PROCESSING by SE I KO

TIMING by SE 1 KO

52— E9



1 288+ wE KhElis
NS R
Tal— FI =P NT—H
E A (IRAVE S (S NN=Y i) [foi] a—24
NFIAF—H 2 =T a—R
e Wi E= [ ) ] 2K — s 800m
T4 =y v a R 660m
M EER [t FH & [ o ] TS 7= 140m
R 640m
1 AKH 2 AKH
a—RAkyH— PR A E a—At v H— M W%
IS - A - N IS - A - K 3
AiAE#H - B - A 4% HiAEH - B - A 4%
IS - C - AR Fak miAEH - C - AR Fak
HiAEH - D - H st HiAEH - D - H o st
HEFTEL 21(21) A A — IR 10:10 TR %R 23(22) A K — N 12:55
KA Hi E-1 VAZE KA <Hb E-1 VAZAN
AB— /T 4=y a KR 0C/ 1C AH— /T 4=y a KR 3°C / 4C
F=890
NIERE AF=] -p 1RKH 2AKH A i L—x
No No K4 i B 4 R W Re R OFF R AL Vb
111 — /A& BE IR 2 =7 47.08  47.43 1:34.51 0.00
2 15 i Ik HRGIINFRE 4766  47.35 1:35.01 4.71
3 13 ER)l && B /N 48.09 47.86 1:35.95 13.56
4 20 FHE KRR BLAYa=T 48.76  48.93 1:37.69 29.95
5 14 IS N BLAYa=T 50.92 50.60 1:41.52  66.01
6 16 JIIE A —EFA AR T 53.80 57.05 1:50.85 153.87
7 21 AR ER SR 2 =7 5444  56.84 1:51.28 157.92
8 18 — K A PR 2 =7 58.43  56.46 1:54.89 191.92
9 17 At M NFY 2=T 1:11.11 1:09.28 2:20.39 432.05
DID NOT START [1st RUN] 1
12 RiidE BEIT BULAY2=7
DID NOT FINISH  [lst RUN] 0
16-02-2014 / ~NFALA X —35 / FEHET 68/ 1

DATA PROCESSING by SE I KO

TIMING by SE T KO

5925 — R



1 288+
F=890
JIERT AS=] a=b B 1K 24K A i L—x
No No K4 i B 4 15 L3 5 = 15 A IV
DISQUALIFIED [1st RUN] 1
23 ekl e NFID a=T GATE No. 18
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 1
19 =S U HEAxX—7T7
Btz AT Bt [ )i ]
16-02-2014 / NF AL X —34 /FHEH] G8/ 2
DATA PROCESSING by SE I KO TIMING by SE I KO

52— E9




FRO2 _F7EFIEXS
%27n#\-4$(\/1_ i £
3+ AL A KR
Do — TI=ANT 4
Btz (L= 1] [ ) ] a— A4
NFIAF—H T2 =T a—R
T35 HiE E= [ ) ] A — i 800m
T 4=y iR 660m
i EER mE A& [ o ] TS 7= 140m
oy 640m
1 AKH 2K H
a—RAk y H— R B E =Rk H— Ei W5
AiEE - A - KvE % AiEE - A - KvE %
AiE#H - B - (A 5% AiE#H - B - A 4%
AiE#H - C - AR Fak AiE#H - C - AR Fak
AiE#H - D - H o st AiE#H - D - HE REah
HEFTEL 21(21) A A — IR 10:10 TR % 23(22) A K — N 12:55
R EiL EY AR PN 73 <Hb EY VAVARN
AH— /T 4=y a KR 0C/ 1C AB—F/T 4=y a KR 3°C / 4C
F=890
NIERE AF=] -b EE 1A 24KH & # L—X
No No K4 B 4 BEORH R ROBE R RS b
129 H o NF T 2 =T 4210 4216 1:24.26 0.00
2 24 W KR NFIY =T 4168 4263 1:24.31 0.53
3 25 R A NF a=T 42.01 44.03 1:26.04  18.80
4 26 HE EXR R 2 =7 4273 4434 1:27.07 29.68
5 27 BAERRE N BLA a=T 43.66  43.99 1:27.65 35.81
6 28 H B A BLAYa=T 4489  47.00 1:31.89  80.59
7 32 W EBEK NFIY =T 4524  46.78 1:32.02  81.97
8 41 W AT WY 2 =7 46.57 47.81 1:34.38 106.89
9 35 o EIE NFIY =T 47.34 4829 1:35.63 120.10
10 39 Hb LBE BLAYa=T 52.39  51.09 1:43.48 203.01
11 38 QI < BRY 2=7 55.21 57.05 1:52.26 295.75
DID NOT START [1st RUN] 3
33 R A NFY 2 =T
37 @il B NFI 2 =T
16-02-2014 / ~NFALA X —35 / FEHET G8/ 1

DATA PROCESSING by SE I KO

TIMING by SE 1 KO

5159 2 — 8



3« 44T
F=890
NEAT AR} -h EEEE 1AH 2AKH A B LV—X
No No K4 B 4 R [ BRg Rl OFF R ALV b
40 I SR MR 2 =7
DID NOT FINISH  [lst RUN] 1
34 DR B IR 2 =7
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 2
30 Ay FEE BULAY2=T GATE No. 19
36 HH OB GATE No. 18
E A (IRAVES (S NN=Y i) [foi ]
16-02-2014 / NTF AL X F—3 FHEH] G8/ 2
DATA PROCESSING by SE I KO TIMING by SE I KO

52— E9




% FRC1 - T7RFEAR
F2/IBlEER A Z-ZT7EF £y
3« 4FBT wE KAl
Tal— T = HIT—
Btz (L= 1] [ ) ] a— A4
NFAF = 2 =27 a—R
T35 HiE E= [ ) ] A — i 800m
T4 =y v a R 660m
i EER mE A& [ o ] TS 7= 140m
R 640m
1 AKH 2K H
a—2k v H— R B a—2ty H— R #5%
AiEE - A - K % AiEE - A - K 3
AiAE#H - B - A 4% AiE#H - B - A 4%
AiE#H - C - AR Fak AiE#H - C - AR Fak
AiE#H - D - H o st AiE#H - D - HE REah
TP %k 21(21) 2K — M 10:10 TR % 23(22) A K — N 12:55
KA Hi E] VAZEN KA <H E] VAZAN
AL—/T 4=k 0C/ 1C AL—/T 4=y KA 3°C / 4C
F=890
NIERE AF=] =p 1A 24KH & # L—X
No No K4 i B 4 152 5 I 15 5 155 0 N G
1 42 & e IR 2 =7 39.32  40.13 1:19.45 0.00
2 43 AN EER WY 2 =7 4017 4166 1:21.83 26.66
3 48 R EK WY 2 =7 4120 4238 1:23.58 46.26
4 49 A B NFY 2 =T 41.80 4242 1:2422 5343
5 58 =R A NFIY =T 4152 4274 12426  53.88
6 47 ek s WY 2 =7 4099 4340 1:24.39 5534
7 53 FIl #EX BLAYa=T 4156  43.83 1:25.39  66.54
8 46 ks BEFH NFIY =T 42.08 44.06 1:26.14 7494
9 54 HEH K NF a=T 4343 4299 1:26.42  78.08
10 62 BE &EF ~FY 2AXF—r 57 43.02 44.01 1:27.03 84.91
11 51 H o R BLAYa=T 4312 4475 1:27.87 94.32
12 52 I EB) BULAY2=T 4415  43.86 1:28.01 95.89
13 50 NN IR 2 =7 4574  46.11 1:31.85 138.90
14 60 H o FEa NFIY =T 46.32  47.68 1:34.00 162.99
15 59 EK EK NFIY =T 48.18 50.81 1:38.99 218.89
16-02-2014 / ~NFALA X —35 / FEHET G8/ 1

DATA PROCESSING by SE I KO

TIMING by SE 1 KO

5159 2 — 8



3 - 4FEHT
F=890
JIERT AS=] -p 1RKH 2AKH A F L—x
No No K4 i B 4 R [ BRg Rl OFF R ALV b
16 63 HAS AATHER BLAYa=T 51.54 5490 1:46.44 302.34
DID NOT START [1st RUN] 1
45 s JINEE N
DID NOT FINISH  [lst RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 1
57 (HHE NFY 2=T
DISQUALIFIED [2nd RUN] 2
61 HE 8l IR 2 =7 GATE No. 10
64 WA e NFY 2=T GATE No. 10
Btz (S NN=Y i) [foi ]
16-02-2014 / NTF AL X F—3 FHEH] G8/ 2
DATA PROCESSING by SE I KO TIMING by SE I KO

52— E9




5+ 6L+ wE KAl
Do — TI=ANT 4
Btz (L= 1] [ ) ] a— A4
NFIAF—H T2 =T a—R
T35 HiE E= [ ) ] A — i 800m
T 4=y iR 660m
i EER mE A& [ o ] TS 7= 140m
oy 640m
1 AKH 2K H
a—RAk y H— R B E =Rk H— Ei W5
AiEE - A - KvE % AiEE - A - PN
AiE#H - B - (A 5% AiE#H - B - A 4%
AiE#H - C - AR Fak AiE#H - C - AR Fak
AiE#H - D - H o st AiE#H - D - HE REah
HEFTEL 21(21) 2K — M 10:10 TR % 23(22) A K — N 12:55
KA Hi E] VAZEN KA <H E] VAZAN
AH— /T 4=y a KR 0C/ 1C AB—F/T 4=y a KR 3°C / 4C
F=890
NIERE AF=] =p 1A 24KH & # L—X
No No K4 B 4 BEORH R ROBE R RS b
1 66 ik HafE HERY 2 =T 38.31  40.62 1:18.93 0.00
2 68 ER) SY BE e /N 4234 4343 1:25.77 7713
3 67 $ERE =R IR 2 =7 42.05 4525 1:27.30 94.38
4 170 [EE AN} IR 2 =7 4296 4528 1:28.24 104.98
5 72 A 2548 BLAYa=T 43.00 4543 1:2843 107.12
6 71 oA BT (=i 4433 4714 1:31.47 141.40
7 75 R Z5 IR 2 =7 4515 4728 1:32.43 152.22
8 76 HA BFnr NF a=T 54.44  56.37 1:50.81 359.47
DID NOT START [1st RUN] 0
DID NOT FINISH  [1st RUN] 0
DISQUALIFIED [1st RUN] 0
16-02-2014 / ~NFALA X —35 / FEHET G8/ 1

DATA PROCESSING by SE I KO

TIMING by SE 1 KO

52— E9



5+ 6K

F=890
NERL AF—F =b B 1RKH 2AKH A F L—x
No No K& B 4 S <7 = 1 = 1 I N A

DID NOT START [2nd RUN] 0

DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 2

65 KR KREA NFIY 2 =T
69 FRIR BE IR 2 =7 GATE No. 17

S L(TEAVES vars B (S ]

16-02-2014 / ~NFALA X —35 / FEHET G8/ 2

DATA PROCESSING by SE I KO TIMING by SE 1 KO

52— E9




il
AW
\%
M

| |
N
B

it
n

EX

5+ 6EHT wE KAl
N FR
Do — TI=ANT 4
Btz (L= 1] [foi] a—24
NFIAF—H T2 =T a—R
T35 HiE E= [ ) ] A — i 800m
T 4=y iR 660m
i EER mE A& [ o ] TS 7= 140m
R 640m
1 AKH 2K H
a—At v H— R B E a—At v H— Ei W5
IS - A - KvE % IS — A - PN
HiAEH - B - (A 5% HiAEH - B - A 4%
miAEH - C - AR Fak miEH - C - AR Fak
HiAEH - D - H o st HiAEH - D - H o st
HEFTEL 21(21) A A — IR 10:10 TR % 23(22) A K — N 12:55
KA Hi E-1 VAZEN KA <Hb E-1 VAZAN
AH— /T 4=y a KR 0C/ 1C AB—F/T 4=y a KR 3°C / 4C
F=890
NIERE AF=] =p 1A 24KH & # L—X
No No K4 B 4 BEORH R ROBE R RS b
177 Sl NS NFY 2=T 36.81 38.71 1:15.52 0.00
2 79 — K BEZAY IR 2 =7 37.93 3895 1:16.88  16.03
3 78 (B IN NFIY =T 37.86  39.45 1:17.31 21.10
4 81 P —H NFIY =T 38.61 39.29 1:17.90 28.05
5 83 By ] WY 2 =7 40.06 41.36 1:21.42  69.53
6 82 AT R NFIY =T 39.67 41.77 1:21.44  69.77
7 84 k¥E fERR BLAYa=T 3941 4223 12164 7212
8 85 PERT Kb NFIY =T 4156 4244 1:24.00 99.94
9 88 BiE AR BLAYa=T 4154 4352 1:25.06 112.43
10 89 W HER NFIY =T 4758 4276 1:30.34 174.65
11 90 HE RlE SR 2 =7 47.01 4990 1:36.91 252.08
DID NOT START [1st RUN] 0
DID NOT FINISH  [1st RUN] 0
16-02-2014 / ~F AL A ¥ —3 /FHERT G8/ 1

DATA PROCESSING by SE I KO

TIMING by SE 1 KO

5925 — R



5+ 64FEHT
F=890
NERE Af=h =) EEEE 1AH 2AKH A B LV—X
No No K4 B 4 BE R W M B ORI A1 b
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 1
80 M PEF Y 2 =7
DISQUALIFIED [2nd RUN] 1
92 MURE I MR 2 =7 GATE No. 19
XAV R B [ Jo |
16-02-2014 / ~NFALA X —35 / FEHET G8/ 2
DATA PROCESSING by SE I KO TIMING by SE T KO

52— E9




Foie =18 >° — 7 E = *EXA.
b
%27 H #Hdi(l\ -/l— i £
A A wE KAl
Tall— T = hNT—&
Btz (L= 1] [ ) ] a— A4
NFIAF—H T2 =T a—R
T35 HiE E= [ ) ] A — i 800m
T 4=y iR 660m
i EER mE A& [ o ] TS 7= 140m
oy 640m
1 AKH 2 KH
a—RAk y H— R B E =Rk H— Ei W5
AiEE - A - KvE % AiEE - A - KvE %
AiE#H - B - (A 5% AiE#H - B - A 4%
AiE#H - C - A FiEk AiE#H - C - A TRk
AiE#H - D - H o st AiE#H - D - HE REah
TP % 21(21) A A — IR 10:10 BT % 23(22) A A — IR 12:55
R EiL EY AR PN 73 <Hb EY VAVARN
A=K7 4=y aKik 0C/ 1C AB—F/T 4=y a KR 3°C / 4C
F=890
JIEAE A=) -b EE 1A 24KH & # L—X
No No K4 A B 4 152 5 I 15 5 155 0 N G
1 103 HWH i1 WY 2 =7 3595 37.89 1:13.84 0.00
2 96 A BIRY a=7T 37.05 39.34 1:16.39  30.74
3100 PAERAE  HPHB BLAYa=T 3744 3970 1:17.14  39.78
4 95 NG BB NF a=T 37.58  40.07 1:17.65 45.92
5 98 e ¥ NFIY =T 38.24 4160 1:19.84 72.32
6 99 b EAT SR 2 =7 38.63 4180 1:20.43 79.43
7 104 Ay Eh BLAYa=T 39.65 40.89 1:20.54  80.76
8 106 Ik B3 BRYa=T 3928 4148 1:20.76  83.41
9 107 H b A BRY 2=7 3942 4155 1:2097 85.94
10 105 BijtE FET BLAY2=7 39.11 4359 1:22.70 106.79
11 112 AR B3 BLA a=T 40.96  43.28 1:24.24 125.35
DID NOT START [1st RUN] 1
108 KHE CF BLAYV2=7
16-02-2014 / ~NFALA X —35 / FEHET G8/ 1

DATA PROCESSING by SE I KO

TIMING by SE 1 KO

52— E9



A 2
AL A=} N XiE
No No K4
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
97 LS
DISQUALIFIED [2nd RUN]
Hepr R

0
0
0
1
0
(LS =

16-02-2014 / NF LA F—3F FHEMT

F=890
1KHE  2AH & # L—=
iR 4 BB BE R RE B ARk
KSC
[ ]
G8/ 2

DATA PROCESSING by SE I KO

TIMING by SE 1 KO

52— E9



2 R U1 - 7RFERS
F2/IBlEER A Z-ZT7EF =
thap Az B - B KEEE
N FR
ol — T E=HNT —H
Btz [EESNN=Y i) [foi] a—24
NFIAF =T 2 =T a— A
T35 HiE E= [ ) ] 2K — s 800m
T4 =y v a R 660m
i EER mE A& [ o ] TS 7= 140m
R 640m
1 AKH 2K H
a—RAkgyH— R A E a—At v H— £l %
IS - A - N IS — A - K 3
AiAE#H - B - A 4% HiAEH - B - A 4%
miAEH - C - AR Fak miEH - C - AR Fak
HiAEH - D - H B Rt HiAEH - D - H o st
HEFTEL 21(21) A A — IR 10:10 TR % 23(22) A K — N 12:55
KA Hi E-1 VAZEN KA <Hb E-1 VAZAN
AH— /T 4=y a KR 0C/ 1C AB—F/T 4=y a KR 3°C / 4C
F=890
NIERE AF=] =p 1RKH 2KH A i L—x
No No K4 i B 4 R W Re R OFF R ALV b
1 123 W it NFIY a=T 36.12 38.15 1:14.27 0.00
2 119 wH K NF a=T 35.92 38.68 1:14.60 3.95
3120 BAEREE  5AFH BLAY2=7 36.90 37.80 1:14.70 5.15
4 118 fEH BRY2=7 36.92 3834 1:1526  11.86
5 121 R BRIG BLAY2=T 37.89 3913 1:17.02  32.95
6 124 S S YN WY 2 =7 3756 39.87 1:17.43  37.87
7 125 NI RYN WY 2 =7 37.95 40.46 1:18.41 49.61
8 122 H oM WY 2 =7 38.06 4115 1:19.21 59.20
9 116 =l AEIK IR 2 =7 36.56  43.03 1:19.59 63.75
10 117 it = WY 2 =7 39.33 4171 1:21.04 81.13
11 134 DR K IR 2 =7 4217 4294 1:2511 129.90
DID NOT START [1st RUN] 2
130 RN NFIT =T
133 fEl A NFY 2 =T

16-02-2014 / NF LA F—3F FHEMT

G8/ 1

DATA PROCESSING by SE I KO

TIMING by SE 1 KO

519 2% — B9



Hheg A B
F=890
BN AB—b - EEECE 1A 2AKH & B L—x
No No K4 AT B 4 e [ BF M B M AL b
DID NOT FINISH  [1st RUN] 0
DISQUALIFIED [1st RUN] 2
128 Bl e WY 2 =7 GATE No. 14
132 P @S HR A H R
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 1
131 AN /e i TR 2 =7
DISQUALIFIED [2nd RUN] 0
Bz (Y=Y i) [JcfiE ]
16-02-2014 / ~NFALA X —35 / FEHET G8/ 2
DATA PROCESSING by SE I KO TIMING by SE 1 KO

52— E9




